E BT 7030-00390 KIT

LIVING SPACES

MAS90: 5043-43255

LG RM SVR/CHYN/TETON HB HRDW

QTY: DESCRIPTION:

N

4" X 2" MENDING PLATES
710124 F 2" MENDING PLATES

N

16 #8 X 1" PHIL PAN SMS ZINC SCREWS
4 2 1/4" L BRACKET
16 #8 X 3/4" PHIL PAN SMS ZINC SCREWS
8 1/4 X 4 HEX LAG BLK
8 3/16 USS FL WASHER BLK
10 6 X 1 1/4 PHIL FLAT PARTICLE BOARD SCREW

o O

O O 4" X 2" MENDING PLATE
o o
(o O) 2"MENDING PLATE

(ks>  #8 X 1" PHIL PAN SMS ZINC SCREWS

21/4" "L" BRACKET

{iese>  #8 X 3/4" PHIL PAN SMS ZINC SCREWS

LAG BOLT

@ WASHER

D—wwwwe> PHIL FLAT PARTICLE BOARD SCREW




= E 4457/4117/4458
= 4457/4126/4459

LIVING SPACES

00390

SEDONA
CHEYENNE BED INSTRUCTIONS

PARTS LIST: TOOLS REQUIRED:

1) 8 -4 1/4" Lag Bolts

2)  8-Black Steel Washers 1)  7/16" Wrench or Socket Wrench

3) 1 -Cheyenne Headboard (Bunkhouse or Sedona) 2) Phillips Head Screwdriver

4) 1 - each Head End & Foot End Assembly (Twin or Full)

5) 2 -3 1/4" x 75" Mattress Rails w/Support Cleats Recommended: Electric driver with 7/16" socket

6) 3-31/2" x 38 3/4" Mattress Supports for Twin or 3 1/2”
x 53 3/4" Mattress Supports for Full

7) 10 -1 1/4" Wood Screws

8) 2-2"x4” Brackets, 2-%2"x2” Straight brackets and
16-8x1” Screws

Make sure you have all parts before beginning assembly. If you need a part, contact Living Spaces.

1) Attach two mattress rails(E) to headboard/footboard assemblies(D) with 8 lag bolts and 8 washers, and
tighten.

2) Roll out slat kit and stretch from bed end to bed end. Secure with 4 wood screws on the ends of the
outermost 2 slats, in each of the 4 corners of the bed. Center the 3 individual slats in the 3 gaps built into the
slat kit, and secure with 6 wood screws on each end of the individual slats.

3) Lift Headboard onto bed ends as pictured on page 3. Secure headboard as described on page 3.

4) Slide Underdresser under front side of bed, and secure with L brackets as described on page 3.



= ‘E 4457/4117/4458
el 4457/4126/4459

LIVING SPACES

HEADBOARD BRACKET PLACEMENT

BRACKET PLACEMENT INSIDE
HEADBO ARD AT EOTH ENDS

2

5) Attach one %2” x 2” straight bracket at each end of the headboard spanning the joint between the top rail of the
ends (D) and the bottom edge of the headboard uprights.
6) Attach 2x4’ bracket inside each end centered on the headboard ends

FROMNT LIDE RAIL CLEAT

END BOTTOM RAIL

FEONT LIDE RAILCLEAT

END BOTTOM RAIL

EMD BOTTOM EAIL

21/4" 'l BRACKETBOTIOM BACK EMD OF UMD ERD RESSER
AND BOTTOM RAIL OF EMD PANEL

7) Attach 2 %" “L” brackets to the top of the underdresser corner blocks at each end and to the back of the front
side rail cleat as shown in Detail C to the right above. Use two of the 2 1/4" brackets to attach the back, bottom ends
of the underdresser to the bottom rail of each end panel as shown in Detail D to the left above.

8) Add mattress not to exceed 7" thick and sleep well!

REVISED: 01/22/2013



SEIES

LIVING SPACES

;1

|

¥

ymozsmﬂ
7 X

g

Installation of individual slats for use with
Bunkie Board

(Bunkie Board sold separately)

See your retailer for purchase of Bunkie
Board

When used with a slat roll, the three
individual slats should be placed evenly in the gaps
and underneath the strapping before fastening.

SCREW—~_— AN _-SCREW
/ N\
| _ \\ // _ _
lis Individual Slat
INDIVIDUAL
SLATS i _ |
| |
INDIVIDUAL [ [
SLATS | |
N [l SCREW
- N Individual Slat
SCREW _ _
| |
_ _ _ _
\
q _ _ _
mme<<|/ -SCREW
i \ Individual Slat
_ _
_
_ _ _
SCREW— &5 )
“SCREW

Installation of individual slats for use with
Slat Roll
(Slat roll sold separately)

See your retailer for purchase of Slat Roll


Bill
Stamp

Bill
Stamp

Bill
Typewritten Text

Bill
Typewritten Text

Bill
Typewritten Text
                  

Bill
Typewritten Text

Bill
Typewritten Text

Bill
Typewritten Text

Bill
Line

Bill
Line


	7030-00390 KIT
	5043-43255
	Sheet1


	7030-00390
	7030-00390
	7030-00390
	BUNKHOUSE/SEDONA                  00390
	CHEYENNE BED INSTRUCTIONS
	SEDONA                                        CHEYENNNE FRAME        BUNKHOUSE
	4457 HEADBOARD                                           4116 HEADBOARD
	4458 TWIN ENDS             4117 TWIN               4118 TWIN ENDS
	4459 FULL ENDS             4126 FULL                4127 FULL ENDS
	PARTS LIST:
	TOOLS REQUIRED:
	ASSEMBLY INSTRUCTIONS:
	NOTE:
	BUNKHOUSE/SEDONA                  00390
	CHEYENNE BED INSTRUCTIONS
	HEADBOARD BRACKET PLACEMENT
	5) Attach one ½” x 2” straight bracket at each end of  the headboard spanning the joint between the top rail of the ends (D) and the bottom edge of the headboard uprights.
	6) Attach on 2x4’ bracket inside each end centered on the headboard  ends


	Instruction Sheet - Last Page




